EARAZROREIERT — 2 N— XBISY —F 2020528128 (k) 15@EIE%I6H

m C3—9 C3 #5%—#M ESRE IR
[A&4£] 1 7% :300,000 ™ ~ 23#&:105,000 3#&:60,000H  43#%&:45,000H” . 53 :30,000 ™
B\ BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. _ 5 . —o-o_ — BAH (B
ilglg| €ramEL—F1 it o4 g;i;é%k 1.(2_6).7 2-2-2-1 | 40.4 5 (4:3 ;It%f_ﬁﬁémﬂl)
R ALINT Ry IZ BEvIVHIS HINLKZ—95T
. . (R {EE] :26. -3-3- 3 - 2lIE— (&H)
» NVEE R =P it 4 Al 1(216)9 3-3-3-3 | 40.3 6 (4+433) %;‘m
Rir—TT52a BiNAhAYLE ZYHLIT— I
R FRRIER : —4-4- — B (FH)
3 4| vIFFEn i 3 Zh 1(.12/72.>o 4-4-4-2 | 40.3 1 <4+037) EE%%
LNy v = BiEa—-F07ACF 5 W%
SN A hakth : 55— — Hse (SH)
41101 b1 ¥ G 1'(237)'6 AR ’ ff; EHHE
RiFATAT v — BRRPIT K= J =% Ty — I
N R HRENF :28. -1-1- . - 2lliE— (BH)
5(5|5 e (R I A VN * 4 A51.0 1(258)6 111 2.5 2 (4_738; ilﬂﬁﬁ .
L:vavFrrhr7 BI—-Y TIN=FK SERS
S 1ERFHR :29. ~7-6- . - z2lliE— ()
6 3| ITRX714AE> o4 | ER 1(229)0 7-7-6-6 | 41.9 4 (i??) i
L:2v—hAEY BIRXRTATa2EZ— )| KR 5
N o . AN ERE : -9-0— — RAKX (BH)
718l o| Hrs1vF vz i 6 e 1.(219>.2 9-9-9-9 | 40.1 8 12(7»3 T(#k) g
R:TZR7 08— BAYITIT pil=cbae]
¢ 5 > g | ARt 1:29.6 8-8-8-7 |41.7| — 9 497 | BRfR— (SH)
EE o | INTF—X 56.0 @) (o) | AHIEE
RV KYIYRIR B:TUSERITINL J—H Ty — I
— bADES :29. —6-7— . — MBS (FH)
9l7|7 FYFoAqLO— 4 4 vised 1(219)8 5-6-7-8 | 42.6 7 (4_536) edii =
Rix>in4o— B:UNIELR HFH BB
@ I—F—@EBIERL
|3=7r= 5,8,6,4,7,1,3,2,9
2ol=5"= 5,8,6,4,1,7,3,2,9
== 5,8,6,4,1,3,7,2,9
43—F— 8,4,6,1,5,3,2,7,9
[ N
B 8 1,080 714K 6-8 580 & 6-8 3,570 &R 4-6-8 990F
# B 8 220M 4-8 330H B E 6-8 3,690 EE 8-6-4 13,770
6 240M 4-6 330M B H 8-6 6,840M
4 110

ARICOVWTRDTEEERROODE. TR LI,



